CHM112/Dr. Rezac

Homework # 7

Homework #7
Due: _____________

1. Please calculate the formula mass for the following (show how you got the result…):

CuSO4
CH4

H2O2
Al2(SO4)3
Mg3N2

2. Calculate the number of objects (atoms, molecules etc.; the respective objects are underlined) in each of the following:

1g of NaCl

0.5 mol of CuSO4.5H2O
8g of O2
0.1 mol of eggs
2 pounds of CaCO3
25 g of  Ca(NO3)​2
3. What is the content (in g) of the following elements in their compounds? Show your math:

Cu in 20 g of CuSO4​
Au in 5 g of AuCl3
Cl in 5 g of AuCl3

C in 2 ml C2H5OH (d=0.75 g/ml)

S in 5 g of Al2(SO4)3

4.  Please balance the following equations: 
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5. Methane (5g) reacts with oxygen. What will be the masses of products? The equation for oxidation of methane (burning) is shown below.
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6. Ethanol (C2H5OH; 5 grams) reacts with 2 grams of oxygen (O2) to give water (H2O) and carbon dioxide (CO2). Please calculate the number of grams of each product generated. 
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